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FRART 96 106 112 218 |1 FHHET 203 168 170 338|#kHT— T H 276 235 176 411 | RERT 274 313 320 633
ARYHT 192 171 205 376| BN 12,468 11,672 12,563 24, 235|%kAT T H 176 162 129 291 | K HERT 677 819 903 1,722
JEHT 444 413 473 886 FERT=TH 126 141 138 279 KIEHMX 3,738/ 4,300 4,504, 8,804
T 742 750 771 1, 521 |l ERT 242 244 274 518|#kET Y T H 71 40 54 94
b BHT 317 305 320 625| IR AT 3,833 3,872 3,917 7,789 N4RHHX 9,970/ 10,029 9,940 19, 969 |Fa[ A T 373 461 459 920
T 263 232 221 453 | far BT 182 196 224 420 BT 247 319 345 664
Bl 113 117 115 232\ HHIT 480 477 476 953 | iRy 1,220 1,481 1,449) 2,930l —TH 499 512 540/ 1,052
KAGHT 638 581 571 1, 1527 TAHT 3,748 3,929 4,061  7,990|%{% H T 362 400 421 821 |4k LT =T H 226 227 255 482
BT 18 10 15 25| H{Rmy 3,514 3,588 3,697  7,285|H)BHT 1,639 1,663 1,770] 3, 433|HE/INRHT 607 662 681 1,343
E= 201 54 47 51 98|:& &My 624 623 637 1, 260 H T 1,148 1,310) 1,297 2,607|Li4HT 1,581 1,885 2,019 3,904
Fn T 211 218 251 469 | i BT 1,382 1, 480 1,581 3,061 HrEnaHix 4,369 4,854 4,937 9,791| I /\iEHHX 3,533 4, 066 4,299 8, 365
Aeimmy 102 65 64 129| KA 156 154 176 330
JUTREHT 194 205 228 433 H SEHT 336 403 475 878|HEpHT 2,940 2,961 3,215 6, 176 & shHT 445 459 507 966
LI 129 95 89 184 HRIT— T H 372 389 397 786| K\ AHT 1,218 1,289 1,213 2, 502|5EikHT 295 340 347 687
AT 65 56 61 NT7PRARET =T H 499 526 505 1, 031|/IN\AHT 1,301 1,414 1,463 2, 877|HHHET 735 772 808/ 1,580
TFIHET—T H 145 148 146 294 R ERIT =T H 498 547 538 1, 085| EA T 456 538 558 1, 096 | 3 FLIT 232 280 277 557
TRIEET =T H 119 135 116 251 | HERATIY T H 318 328 399 727|MERTPE— T H 50 42 26 68| T 1,197 1,373 1,428/ 2,801
THRIEET=TH 117 110 114 224|  ZFRHX 16,184 16,756 17,357| 34, L13|MERTE ~ T H 104 95 91 186 i BT 710 851 904/ 1,755
TATHETY T A 139 156 163 319 R —TH 333 230 326 556( st 3,614 4,075 4,271 8, 346
TRIHETE T H 68 57 12 69|41 JE T 3,759 3,923 4,100 8, 023|MEET T H 32 33 33 66
HEFAmT 456 418 473 891| [l — T H 279 312 359 671|[EIT=TH 23 11 22 33| A BFHT 5,778 6, 146 6,353 12,499
FI4RAT 21 18 18 36| I T H 586 593 667 1, 260 ([BZHETIY T H 124 123 116 239 JLRT 207 268 286 554
TTHT 175 168 198 366 7 @HT =T H 896 882 965 1, 847 | L HT 1,961 2,065 2,202 4,267 AREEFHIX 5,985 6,414 6,639 13,053
AT 29 20 27 AT|SF M 1,634 1,638 1,746 3,384  HIHIX 8,542 8, 801 9,265 18,066
AT 179 149 198 347| Fe AT 1,493 1,459 1,547 3,006 KIRAT 402 429 478 907
ENINTE 501 463 522 985 (ML A7 HT 193 185 185 3704 F-IRmT 456 404 548 9525t A 1T 533 614 622 1,236
YRR 26 18 24 A2\ THRET—TH 514 508 498 1, 006 | &Il AT 2,337 2,322 2,421 4, 743 J BT 647 787 733 1,520
T 77 64 69 133\ TRET =T H 364 354 379 733 TR T 241 304 322 626 | 74 5 1] 142 151 142 293
AT 39 37 50 87|\ TFAHET =T H 490 507 550 1, 057|smElT 985 1,002 1,038 2, 040|#k/5HT 617 746 747 1,493
[T 362 281 329 610\ TRHETIN T H 393 408 454 862 |HRERHT 546 627 617 1, 244| %% 0T 381 420 387 807
=1 156 147 171 318[  F R X 10,601 10,769 11,450 22, 219|H]E=H] 379 398 451 8497t [ 44 mT 547 650 663 1,313
ST 2L 595 596 609 1,205 AL 2,372 2,725 2,790 5,515 KU fHiX 3, 269 3,797 3,772 7, 569
LAl 26 27 24 51| Ly BpRT 2,358 2,512 2,665 5, 177[#5HNT 154 198 201 399
# LT 498 479 538 1, 017 |f= By FERT 42 43 47 90[ J\igkHLIX 7,470 7,980 8,388 16, 368| LyEhT 270 352 356 708
i 24 30 28 58| b JEHET 3,672| 3,780 3,755 7,535 TR THT 154 192 201 393
RS RLET 219 192 174 366/ AL HERT 337 355 423 778 E i my 1,286 1,408 1,432 2, 840 T 7 HIAT 170 215 218 433
JEHT 163 161 154 315|2HT 696 688 712 1, 400| T 4[] BT 1,896/ 2,095 2,162 4, 257| FiEHT 414 492 499 991
AT 390 353 379 T32( FEEFHT 1,357 1, 640 1,630 3, 270 H i T 829 853 956 1, 809| 1 T 336 441 431 872
PR 19 17 20 37| T ZIRHAT 1,706 1,962 1,909 3, 871|ALALRHET 464 459 522 981 | Vh £k ] 420 498 454 952
A AR HT 1,599 1,592 1,738 3, 330| T HEHT 1,094 1,229 1,229 2,458 [ X 4,475 4,815 5,072 9, 887 [/ FUAT 401 470 494 964
R T 185 174 173 347 | Hr ik PRT 405 453 452 905 i) 1 H X 2,165 2, 660 2,653 5,313
gzl 140 124 160 284|FEIT—T H 585 626 610 1, 236|nPmT 484 551 580, 1,131
[l 176 150 161 31| PJEET =T H 1,323 1, 199 1,441 2, 640 |44 HimT 470 568 593 1, 161 [Fmr = & 468 514 503 1,017
B oThT 189 182 222 404 EET =T H 620 659 712 1, 371|ALHr i my 173 187 206 393 | A BHIMT HE FH 394 428 431 859
EN) 160 130 148 278| W EETIY T H 652 655 691 1, 34617 JIHT 142 181 189 370| A vHRT A VE 186 196 201 397
JEATEAT 116 83 67 150 BLHERT 979 1,008 1, 054 2, 062|ik)IH] 1,208 1,375 1,433 2, 808| A PAIMT K 111 127 141 268
N 358 378 441 81911 FH % HHT 629 628 550 1, 178|FEHTE AT 375 430 467 897 | A BHINT )17 330 337 348 685
L 234 186 223 409| =B H X 16,455 17,437 17,880 35, 317|%&MIAT 439 511 507 1,018] APAHX 1,489 1,602| 1,624 3,226
|11 FH T 111 93 102 195 Fldgmy 263 335 333 668
T 100 80 95 175| /N B HT 795 837 910 1,747 REHIX 3,554 4,138 4, 308 8, 446 | FEARMT VG I = 713 802 863 1, 665
PU 7 T 36 40 37 77| B/ T 487 570 628 1,198 FEYBIT 4 U 91 99 112 211
GaeLlE 43 36 40 76| LA AERT 2,933 2,889 2,715  5,604| - KHHAT 1, 302 1,385 1,444 2, 829|FEARHTFA Z IR 292 190 171 361
FEELIT 99 85 72 157| R/ RS HT 2,245 2,232 2,239 4,471|f5 KHEAT 310 371 377 TAS|FEABIT 1,033 1,228/ 1,278 2,506
HAEHT 253 258 291 549| /AT 1, 469 1,516 1,495 3, 011 |4RIRr AT 705 872 895 1, 767 | FEARMT HH = 417 490 503 993
FERAHT 345 298 320 618 | HLAHHT 1,392 1,407 1,456/ 2, 863| KA 470 540 565 1, 105 SE4pNT 2 1,4320 1,629 1,688 3,317
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FEHRMT T 807 951 992 1, 943| & HHT /M 146 187 193 380
FEYBIT 5 ] 337 452 448 900 & FHHT 7111 252 291 298 589
BT 212 244 221 465| & HHT AR 499 631 607 1,238
BT 1L 155 183 202 385| & HATHI 287 338 335 673
FEYBHT )1 427 485 508 993 & H-HT b 611 749 721 1, 470
FEYBIT o B 6 5 5 10| & HHT % 428 541 521 1,062
FEYBHTFIARR 985 1,257 1,252  2,509| % HHT L 94 124 125 249
FEHBHT A5 1,835 2,030 2, 255 4, 285 H-MT 33 41 42 83
FEHRHL X 8,742 10,045 10,498 20, 543| & HHTHI{R 298 371 382 753
E AT 229 191 211 402
Aty 3,746 4,474 4, 626 9, 100{FH H-MT 4 35 44 42 86
JEFHHET 1,661 1,942 2, 054 3,996 | HMT AR 10 8 14 22
Ly 572 763 809 1, 572|E AT L L R 378 472 443 915
By 201 244 252 496 H FHTERIR 48 62 66 128
Filaduf 15 0T 301 326 316 642 HHT A 150 179 171 350
N 143 160 170 330 & T 151 193 201 394
% T FH AT 73 90 104 194| & M7/ R 344 415 424 839
S[E Sy HT 267 378 384 762 HMT g 120 156 157 313
TG[E 5y HT 240 330 315 645| & HHTE 189 221 216 437
Je sy 406 431 424 855 | H-HT /N 210 265 263 528
TorE BT 3,500 4,177 4,238 8, 415|E HHHTIEjEE 576 710 704 1,414
AT 1,672 2,008 2,045 4, 053[HHMTFE— T H 341 377 375 752
= SRHT 835 1,018 1,035 2, 053|HHMTFIE — T H 399 429 462 891
rhR T 1,516 1,654 1,664 3, 318|EHHMTFEE =T H 300 412 397 809
T 1,354 1,475 1,510 2, 985|75 HHT IR 323 374 395 769
v ELHT 474 570 589 1, 159| & HHHT T L7 95 116 120 236
R FH AT 648 833 817 1, 650| & H-HT_E B 135 177 152 329
JE T 522 607 652 1, 259(FE HMTIK O 58 73 70 143
TG H X ,131) 21,480  22,004| 43,484| EFHAX 9,921 11,767| 11,872 23,639
ST 752 5,907| 6,157 12,064
IR LIRS 752 5,907| 6,157 12,064
e HET 096 1,231 1,291 2,522
P T 897 784 914 1,698
s T 453 520 514 1,034
e Ly 91 50 76 126
BT 33 24 42 66
R BT 397 539 543 1,082
T HELRLET 014/ 1,149 1,202 2,351
v L LT 725 838 889 1,727
R ELEET 028/ 1,190 1,181 2,371
AGRHE] 886 1,086 1,067 2,153
T 697 823 854 1,677
FIE T 190 217 215 432
+ 3T 184 219 231 450
ERET 327 399 382 781
=Y A-RAT 109 110 116 226
AT 120 144 139 283
Hedn X 8,247 9,323 9,656 18,979
E T I 669 732 760 1,492
T H 1, 190 1,291 1,332 2,623
EFHH] T RAR 289 337 327 664
AT AR 1,034 1,260] 1,346 2,606 B & F 168, 674| 182,687 189,109 371,796




